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Aarebpa 7-9 raacc

KBAJZIPATHBIE YPABHEHHS

IToAHBIE

ax*+bx+c=0
D=b?-4ac
1) D>0 2xopHa X ,= —b;_rax/ﬁ
= =i
2) D=0 1 kopeHb X o

3) D<O kopHel HeT

1) 16x?-8x+1=0
D=(-8P-416-1=64-64=0
_8_8_1
*"216 32 4
2) 5x*+14x-24=0
D=14?-4.5.(-24)=196+480=676>0

_-14+J676 _-14+26

X 55 10 12
L _-14-676 _-14-26__,
2 5.5 10

3) -6x*+7x-3=0
D=7%-4.(-6)-(-3)=49-72=-23<0
KOPHENU HET

PasznosxeHue mpexuneHa Ha MHOXUMEU:

ax? +bx+c=a(x—x)(x—x,)

HenoaHsle
ax?=0, ax’>+bx=0, ax’+c=0,
=0, ¢=0 c=0 b=0
x%=0 (!) EcTb obmmi Pa3HOCTL KBaApPaTOB?
X = MHOIKHUTEAB?
o () ma
, ax£bx=0 &b =(a—b)(a+h)
4) 7x“=0 x(ax+b)=0
2 = +p=
;CZOO x=0 axtb=0 (ax)? — (e =0
2 1y (Vax—e)(Jax +c)=0
3)2x“+13x=0 Jax—Je=0 Jax+e=0
x(2x+13)=0 ax—+c= ax++c=
x=0 2x+13=0 2 ~
ox=-13 6) 4x°-25=0
x=-6,5 (2x)?-5%2=0
(2x-95)(2x+5)=0
2x-5=0 2x+5=0
2x=5 2x=-5
x=2,5 =-2,5
Teopema BueTa:
X2+ px+g=0 8) ;=-S5 x,=2
X, = =X, -X,=-5-2=-10,
1% T 1757 x?+3x-10=0
X, +X,=-p p=—{x +x,)=—-5+2)=3

9) 5x*+14x-24=0 x,=1,2 x,=—4 10)x*-6x+9=0 x;=x,=3

2
5x*+14x-24=5(x-1,2)(x+4)

(!) HET

KOPHEN HET

7) 8x*+16=0
KOPHEN HET

x?—-6x+9=(x-3)(x-3)=(x-3)?


http://www.time4math.ru/

